Math 1312 — Worksheet # 2
Taylor Series

Find the Taylor series with center xy of the functions f(x) below, and com-
pute their radii of convergence.

1 1
1. f(a:):x+1 9 =10 9. f(z) = — To =2

1
2 f<x):.7c+4 To =2 10. f(z) =Va?+4 x0=0
3. f(z) = x21+4 20 =0 11, f(z) = sin(z?) 29 =0
4. flz) = 952_;Wl vo =1 12. f(x) = arcsin(xz) xy=0

r—5 13. f(x) = arctan(z?) 29 =0
5.f($):x3_1 To =0
14. = z arctan(z” =0

6. f(z) =coshz x7=0 fw) = warctan(z®) - o
7. flx)=Inzx x95=3 15. f(:v):/e_x2dx 20=0

1 .
8. f(x) = FES] o =10 6. f(x):/Slzxdg; o0
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